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8.

9

10.

Make an approximate conversion from metric to English.

  to 197 g ounces

1 pound 0.45 kilograms ≈

1 gram 0.035 ounce ≈

1 gallon 3.79 liters≈

1 liter 1.06 quarts≈

  .197 g ≈ oz
 (Round to the nearest  tenth.)

Make an approximate conversion  from English to metric. 
Round  your answer to the nearest tenth.

  to 215 lb kilograms

1 pound 0.45 kilograms ≈

1 gram 0.035 ounce ≈

1 gallon 3.79 liters ≈

1 liter 1.06 quarts≈

  .215 lb ≈ kg
 (Round to the nearest  tenth.)

Make an approximate conversion  from metric to English. 
Round your answer to the nearest tenth.

  to 20.3 L quarts

1 pound 0.45 kilograms ≈

1 gram 0.035 ounce ≈

1 gallon 3.79 liters ≈

1 liter 1.06 quarts≈

  20.3 L ≈ qt
 (Round to the nearest  tenth.)

A company used   of pure gold to coat a pair of shoes.10 g

How many  of gold were  used?ounces

1 pound 0.45 kilograms≈

1 gram 0.035 ounce≈

1 gallon 3.79 liters≈

1 liter 1.06 quarts≈

The company used about   of pure gold.oz
 (Round to the nearest  tenth.)

The heavy duty wash cycle in dishwasher uses   of 
water. How many  does it  use, to the nearest  tenth?

8.5 gal
liters

1 pound 0.45 kilograms ≈

1 gram 0.035 ounce ≈

1 gallon 3.79 liters ≈

1 liter 1.06 quarts≈

The heavy duty wash cycle in a dishwasher uses   of water. L
 (Round to the nearest  tenth.)

A small fish is   long. How many  long is 
the  fish, to the nearest  tenth?

0.7 inch centimeters 1 kilometer 0.62 mile ≈

1 meter 3.28 feet ≈

1 mile 1.61 kilometers ≈

1 inch 2.54 centimeters≈

The fish is about   long.  (Round to the nearest  tenth.)cm
















